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MATHEMATICS - II

Q
< Full Marks ~ 70
5 Pass Marks — 21
('6 Time — Three hours
swes  The figures in the margin indicate full marks
© for the questions.
c
>‘ GROUP - A
s :
“> I. (a) A function f{x) is defined as follows : 3
:-g fx)=2%*+3, 0 <x<2
(*3 find £(0), 1), £(3).
-8 (b) Find the Domain of the function : 2
l_ 3z’ +4z-1
f(Z2)=r——"—
(z-2)(z-1)
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Find the limit (any rwo) :

(i) im, log(1+x)
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Find &{* of ¥ = a* using first principle.

Find % (any rwo) :
(i) y o
(ii) y = (sec x)™™

(ii) x = & cos’0, y = b sin’
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(iii) Show that the points (0, 0), (0, n/3) and
(0, 2m/3) are the vertices of an equilateral
triangle.

(iv) In what ratio the line segment joining A(3, 4)
0:) and B(5, —7) will be divided by Y-axis ?

"= (v) Find the area of the quadrilateral formed by

S the points (0, 3), ( 2, 1) (5, 0) and (4, 6).

(5 (vi) Show that the lines 2x —y + 8 =0, 3x +
y+2 = 0 and 4x + 3y — 4 = 0 are concurrent.

Indi

>‘ (vii)Find the eccentricity, focii, length of the
L. R and the equation of the directrix of the
hyperbola 16x* — 9y* = 144,

Answer any three questions : 3x3=9

(i) Find the equation of the straight line which
passes through the point (2, 3) and whose
sum of the intercepts on X-axis and Y-axis
equals 10.
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(i) Find the equation of the tangent to the circle
%2+ yl-6x—3y—-2=0at(2,-2)
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